2024.05

51
BAREERF CRME T RERP Y
SEERY Bz B 4A$i€%@ﬁawzﬁw%&w?”%ﬁ“mﬂfﬁﬂﬁﬁwa’w%%
%éﬁ—‘r’f'"f’ﬁiﬂ\ﬁk!% ART R FRAMAETT H o
[BRRFAE - FHRERLAL]
(*RE2PRALRBFREEE)
- ~d RFANE L FehY
Bk sv (F A$7) - AR(F 1 RL) (F ~#r) - P e vt
¢ F?—‘iﬁi—%‘, 0, 0,
(837 i BB R B) 3.00% 0.00%
0 -1Y (3) 3.00%
) 1Y-2Y (3) 2.00%
B B ihas 4 8 £ % (CDSC) 0.00% 2Y-3Y () 1.00%
B 3YHE AL 0.00%
&7 - =
1.00% # % 1.00%
(RERET 6 a8 3475 2) -7 '
v g - -
- dAEFTAL AP F
LEDe T (3 ~AfW) - AR(F DRy (F ~8ih) - Pi(F 2 Rd)
& %ﬂ, 1.50% 1.50%
FEr (A Ey) % 0. 30% 5% 0. 30%
EE - 1.00%
By - )
ﬁﬂ(-&r%‘}‘"b{zliﬁia”\ BxE ) _
45& a*g‘\gﬁ\w\% érg:)
FYYNEEL (2 2%") - DE(E 1) 1.75% |(F ~4ih) - Fo(F 1 d) 2.80%
YR ERP I L BT ERL AL LN ZLIET T




2024.05

= P EFEY

B

CEFARATEMERINT A S ALHF LD R

papce

ELRPIN G EFFIFIFRAT T FeP E R FFER TR -
AgBu/FHGHE 1 2. 3& 45
(3 ~gr) - AR(E 7 Rl) 4,782 6,621 8,518 10,475
(% A4h) - FR(F 1) 6,090 8,084 10,097 10,956
CGRELEEE LD
AL (HRFA) WY RBARAE D C HIHERPRA LI R Bt g
Bl Ao TP caR AL PRV EE R REEDTAGAHT TGS
FRAER " e F R
PR
TEPEREFREF AP




2024.05

AEu/FiHF

1#

2F&

&

4

WA AR

4,782

6,621

8,518

10,475

BEEYE

4,782

(A1)

4,782

4,782

4,782

52ERL"

1,839

(A2)

1,839

1,839

53ERL"

1,897

(A3)

1,897

SAERD"

1,957 (A%)

Al

A2

A3

A4

(3 ~A8P) - AR(E PiRg )85t

Fofcd B %100, 000%3%+2 & % T 4p R 3 #

(TREEATFTAEERRAEET * F1.75%)

[ A sdErF AL I’E_“,% ¢ 460002 & LRI K vb o o A g e Bqp B 7 % (1. T5%) 2 B ]

100,000*3.00% + (97,000%1.05)*1.75%
= 3,000 + 1,782 = 4,782

(97,000%1.05) - 1,782)*1.05%1.75%

= 100,068*1.05+1.75% = 1,839
(100,068*1.05) - 1,839)*1.05%1.75%

= 103,232*1.05%1.75% = 1,897
(103,232*1.05) - 1,897)*1.05+1.75%

= 106,497*1.05%1.75% = 1,957
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(100,000*%1.05)*2.80%+(100,000*1.05)*3.00%(CDSC)

= 2,940 + 3,150 = 6,090

((100,000*1.05)-2,940)*1.05*2.80% +((100,000*1.05) - 2,940)*1.05*2.00%(CDSC) = 102,060*1.05*2.80%+102,060*1.05*2.00%

= 3,001 + 2,143 = 5,144

((102,060*1.05)-3,001)*1.05*2.80% +((102,060*1.05) - 3,001)*1.05*1.00%(CDSC) = 104,162*1.05*2.80%+104,162*1.05*1.00%

= 3,062 + 1,094 = 4,156
((104,162*1.05)-3,062)*1.05*1.75% = 106,308*1.05*1.75%
=1,953
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